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- O = Use the measurements that you have been given to find the lengths of any unmarked sides before
= calculating the perimeter.

Question|1
Jake made the structure shown. What is the perimeter of the structure?

| 18cm ,
[ L
I5¢cm
12cm
cm
3cm 3cm

Question 2
What is the perimeter of this shape?

\ 20cm |

! 1

[0cm |
I12cm om
8cm |

' I6cm '
Question 3
The square, rectangle and triangle each have the same perimefer.
Find the lengths of the sides of each shape.

10 cm
8cm
10 cm
8cm
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ANSWERS

Perimeter

- O - Usethe measurements that you have been given fo find the lengths of any unmarked sides before
/

— calculating the perimeter.
Question|

Jake made the structure shown. What is the perimeter of the sfructure?

6cm

| 18cm |
[ L
12cm
(18-3-3)
I5¢cm I5¢cm
(same as the l2cm l2cm
. (same as the
other side) ,
other side)
3em 3em
Question 2
What is the perimefter of this shape?
. 20cm |
I 1
10cm Dem |
8cm |
N |
I6cm
Question 3
The square, rectangle and triangle each have the same perimeter.
Find the lengths of the sides of each shape.
8cm
10 cm
A square has four
. This rectangle has a perimeter
equal sides. of30am
gcm perimeter = gecm  bcm The width equals 6 cm so that
8+8+8+8= 10+10+6+6=32
32¢m
10 cm
8cm
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The three sides marked with a red
line have a fofal length of 10 cm. So
add these as one length.
perimeter =
20+12+8+16+10+10

/6

m

This triangle has a perimeter
of32cm.
Also, both the side lengths are
the same.
8+12+12=32

2cm 2cm

8cm



